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c) Name a design where Pprinciplg
- control is not used.
BRTAE D ;

- (@) With four treatments 4 B, C

t
(b) In an RBD, the yield of the plot for 1s

treatment and 1st block is 50 kg- Mea;}
of the first treatment is 25 kg, mean o
the first block is 12kg, grand mean 1r
10 kg. Find the estimate c?f eri'ot

component for the corresponding plot.

:h.\'l_::
what would be degrees of freedom f,
total sums of square in a Latin squz
gesignp - cAiATE .

(e) In completely randomised design, you
I want to eompa‘r? S treatments with 4
- observations per treatment. What will
: be the error degrees of freedom (d.f)

& for it, if there
: observation ?

(c) State why a particular block in eaFr;
replication of confounded factorla,
experiment is known as the ‘key block
or ‘principal block’.

i ; (d) Explain why there can not l?_e a 2x2
Is one missing LS Dm=sh tolg-tige & 8 1BAW (B

\
ie e
4 (

oisse afls

total number of 8. Answer any three questions from the
n @ following : £ T  5x3=15
: swom od bluow aaiboudiogs 192 ,

Py

(@) An agricultural field
laid out ina
T for comparir

@Bisaplis o
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4. Answer the following questions : 10x3=30

(@) Describe how basic principles of design
g« g0k experunents are employed in
S constructmg the layouts of

3 CRD o

B bon ) RBQ;_N
@@ Lsp

55 744

~ Alger gl,xsn;uss,gelauve advantages and
disadvantages of thegq designs.

sl sanil )?I.nslna i

(b)) What do you by efficiency of a
desxgn? Dmcuss how efficiency of a
design can be increased. Obtain an

expression for efficiency of LSD
compared to CRD.
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A

1‘ conducted in
%“mh the
uJ m A B, C, D.
mh M the elements

8% of the blocks $H%R Do, acd, bl

entify the confounding subgroup
mmm of the
eriment.

id

e :»n-;. mm b C

Or ﬂcfcncc
() Find the standard 7™’ - dlns one
mca .
‘between treatmen’ tion 7
e
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